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per employed member of the 1940 population was approximately seven
years' earnings.”

It is possible to check the reasonableness of our interpretation of the
Soviet claims by recourse to available Soviet national income data. Assume
that total annual consumption outlays in 1940 may be approximated as the
weighted average annual wage (346 rubles) times N, employment. From
Soviet sources, consumption in 1940 represented 74 percent of Soviet na-
tional income, Y.® Therefore, if Cyy0 = 346 X N rubles

46 x N
14

Let us assume initially a capital-output ratio of 3.0. It follows that the 1940
capital stock may be estimated as
Kioio = 3(Y1pu0) = 1404 X N rubles. @

According to Tamarchenko, 30 percent of the Soviet capital stock was de-
stroyed (or removed) during World War IL.® Consequently, one component
of material war costs, the loss of capital stock is determined:

Ku = .3(Kssao) = 421 X N rubles. ®

We may also estimate the loss of national income during the war attributable
to this loss of capital stock:

Yiswo = =468 x N rubles. oY)

Yo x 4 years = 561 x N rubles. @

“E®Y

Next we need to estimate the value of direct war outlays, W, exclusive of
military consumption. As a first step we may calculate the value of national
income for the four war years:

Kiso — Ky
K/Y
Wartime consumption is estimated at 63 percent by averaging the annual
decrease in the share of consumption in national income over the four war

years:

Yo X 4 years = 1311 X N rubles. (5)

Cu = .63(Y,) = 826 X N rubles. [C)

National Income of Soviet Russia Since 1928 [Cambridge, 1961], Table K-2, p. 443), the
weighted average annual wage s determined by giving equal weight to the average annual wage
in the agricultural sector (in 1940 wages), 286.3 rubles (Abram Bergson and Hans Heymann, Jr.,
Soviet National Income and Product, 1940-1948 [New York, 1954], p. 111), with that of the
average annual wage of workers and salaried offcials in the industrial sector, 405.4 rubles (A. N.
Malafeev, Istoriia tsenoobrazovania o SSSR [Moscow, 1964], Table 21, p. 407).

7 The war cost per employed person, 2551, divided by the weighted average annual wage in
1940, 346, approximately equals 7.4 years’ earnings.

® Percentage shares of Soviet national income for war years used here are obtained by
combining official data provided in Tamarchenko, Sovetskie finansy, pp. 50-51; Ia. E. Chadaev,
Ekonomika SSSR v period Velikoi Otechestoennoi voiny (Moscow, 1963), p. 380; G. S. Krav-
chenko, Ekonomika SSSR v gody Velikoi Otechestvennoi voiny (Moscow, 1970), p. 225.

® Tamarchenko, Sovetskie finansy, p. 134.
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Investment outlays averaged about 10 percent of national income during the
war; therefore

I, = .10(Y,) = 131 X N rubles. @
As a first approximation, then, direct war outlays are given by

Wy = Yy = (Cy + L) = 354 X N rubles. ®
Thus, total current war costs are found to be

Ty = Ky + Y*, + W, = 1336 X N rubles ©

or, in terms of average annual earnings,

3.9'years’ earnings, (10)

or 3.5 years earnings less than our previous estimate.

How sensitive is this new figure to changes in the estimated parameters?
‘We have calculated the effects on total war cost of changing the values of our
estimated parameters (C, I, K/Y). Holding C constant at .63 (as the average
of consumption’s share in national income during the war), we allow the
capital-output ratio to fall from 3 to 1.5 and investment to vary from 5
percent to 25 percent of national income. Total war cost measured in terms
of the weighted average annual earnings (in 1940 wages) ranges from 2.7 (K/Y
=151=.25 C= .63 to4.0(KY =3,1=.05 C = .63) years’ earnings.
Given the severity and duration of the war in the Soviet Union, it may not be
unreasonable to assume that consumption fell from 74 percent in 1940 to 50
percent of national income as the war progressed. If we allow C to fall to 50
percent of Y, and I and K/Y to vary as before, total war cost increases by
approximately 170 X N rubles, or an increase in T, of 11 percent. An inverse
relationship exists between total war cost and consumption, with a range of
2.7 (when C = .63, I = .25, K/Y = 1.5)t0 6.0(C = .10, I = .05, K/Y = 3)
years’ earnings measured in terms of weighted average annual earnings. Our
initial estimate of total war cost using Soviet direct estimates of 7 years
earnings is not attained even when C drops to the impossible figure of 10
percent.10

The popular Soviet claim that World War II cost “two Five-Year Plans” is,
therefore, above the upper limit of the range of the total war cost estimates
calculated using Soviet national income data. National income data compiled
by Abram Bergson (in 1937 prices) also yield for our measure of Ty a low
estimate of total Soviet war cost; that is, only a loss of approximately 3.2
years earnings.!* The deflator applied by Bergson for his purposes may not

10 1t is evident from our calculations that consumption has a greater impact on total current
war cost than either the capital-output ratio or the share of investment in national income during
the four war years. That is, halving the capital-output ratio or doubling investment’s share in
national income during the swar years s upproximately cquivalent to 1 10 percent decline in the.
share of consumption in national income during the same period. One might explain the
apparent insensitivity of total war cost to K/Y by its counterbalancing effect in determining both,
the 1940 capital stock and the loss of national income during the war attributable to the loss of

capital stock.
41t is important to note that the data used by Bergson are in terms of gross national product
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be appropriate to this study, however, and may result in an underestimate of
direct war costs. A deliberate and reportedly successful effort was made by
Soviet authorities to restrain inflation of war materials and other direct
expenditures on the war.12

The estimates given above, including Soviet direct estimates, do not
consider the cost to the Soviet economy of the loss of population and
manpower caused by the war.18 Also, none of these estimates includes the
cost to future generations of the wartime loss of capital stock. Thus the true
cost of World War I to the Soviet people was well in excess of our bottom-
range estimates.

in 1937 prices. The 1941 capital stock is estimated at 505.3 billion rubles (in 1837 prices) in
Richard Moorsteen and Raymond Powell, The Soviet Capital Stock, 1925-1962 (Homewood,
1L, 1966), p. 339. The loss of capital stock is estimated at 30 percent or 168.4 billion rubles.
Using a capital-output ratio of 2 (bid., p. 367), the loss of GNP due to the loss of capital stock is
found to be 336.8 million rubles. The value of GNP for the four war years may be calculated at
663.2 billion rubles using the 1940 GNP, 331.8 billion rubles, found in Abram Bergson, The
Real National Income of Soviet Russia Since 1928 (Cambridse, 1961), p. 48. Wartime consump-
tion may be estimated at 272 billion rubles using .41 as the average of consumption in GNP from
1940 to 1944 (ibid., p. 237). Investment during the war is estimated at 106 billion rubles by
using the wartime investment average, 0.16 percent (ibid., p. 237). Hence direct war outlays,
W, are found to be 285 billion rubles. Total war cost, T.,, may be calculated as 790 billion
rubles. To find the total war cost per employed person we divide by a 1937 weighted average
annual wage, 244 (ibid., . 422), to get 3.2 years’ carnings.

12 See V. P. D'iachenko, “Finansy v sisteme voennoi ckonomiki,” in L. A. Gladkov et al.,
Sovietskaia ekonomika v period Velikoi Otechestvennoi voiny (19:1-1945 gg.) (Moscow, 1970),
esp. pp. 419, 432-33.

1 Soviet offical sources report a loss ofat least 20 million population during the war. See G.
S. Kravhenko, Ekonomika SSSR, p. 369. The Soviets, however, strongly reject the idea of
piacing a ruble value on the lost population. See Tamarchenko, Socefebe fivansy, . 1. pp-
128-29.





